
1.	 SAFETY        
	9 Maintain the motorcycle stand in good condition (use an authorised service agent).
	9 Replace or repair damaged parts. Use genuine parts only. Unauthorised parts may be dangerous and will invalidate the warranty.
	9 Ensure that the floor is level and strong enough (preferably concrete) to take the weight of the motorcycle stand and the motorcycle. 
	8 DO NOT use the motorcycle stand on tarmacadam, as the surface may be unstable.
	9 Keep the motorcycle stand clean for best and safest performance.
	9 Maintain correct balance and footing, DO NOT over reach. Ensure the floor is not slippery and wear non-slip shoes. Keep children and 	

unauthorised persons away from the work area.
	8 DO NOT use the motorcycle stand for a task it is not designed to perform.
	8 DO NOT use the motorcycle stand if it is damaged.
	8 DO NOT use the motorcycle stand when you are tired or under the influence of alcohol, drugs or intoxicating medication.
	8 DO NOT allow untrained persons to use the motorcycle stand.
	8 DO NOT make any modifications to the motorcycle stand.	
	9 Before storing in safe area, ensure that all parts are clean and free of grease and oil.
	� WARNING! The warnings, cautions and instructions in this manual cannot cover all possible conditions and situations that may occur. 

It must be understood that common sense and caution are factors which cannot be built into this product, but must be applied by the 
operator. 

2.	 INTRODUCTION
Strong steel construction with powder paint finish for rust resistance. Lifts and stabilises any single-side swing arm motorbike 
quickly and easily. Can be assembled for both left and right-sided lifts. Wide range of pins covering all major manufacturers are sold 
separately. Raise and lower your motorcycle quickly, simply and safely with this lift stand.

3.	 SPECIFICATION

4.	 ASSEMBLY
Numbers refer to attached parts list.

4.1.	 Remove with care all contents from outer packaging, check 
parts against attached parts list.

4.2.	 Attach Pulling Handle (3) to Handle Extension (2) using Button 
Head Socket Screw M8 X 50 Zinc (6). Flat Washer M8 Zinc (7), 
and Nyloc Nut M8 Zinc (8).

4.3.	 Attach completed handle assembly to Upright Frame (1) using 
2 x Button Head Socket Screw M8 X 50 Zinc (6), 2 x Flat washer M8 Zinc (7), handle Connection Plate (4), and 2 x Nyloc Nut M10 Zinc 
(9).

4.4.	 Attach one Fixed Wheel (5) to each side of the Upright Frame (1) using Nyloc Nut M10 Zinc (9). 

5.	 OPERATION
	� WARNING! Ensure that you read, understand and apply the safety instructions before use.

5.1.	 LOADING
5.1.1.	 Attached to the rear wheel making sure you have the correct pin installed, press the paddock stand, creating a leverage effect, your 

motorcycle rises and the weight rests completely on the stand, making it stable. Now you are completely ready to perform maintenance or 
store the motorcycle safely.

5.1.2.	 Store the motorcycle stand in a safe, dry, childproof location.

SINGLE-SIDED MOTORCYCLE STAND

Thank you for purchasing a Sealey product. Manufactured to a high standard, this product will, if used according to these 
instructions, and properly maintained, give you years of trouble free performance.

IMPORTANT: PLEASE READ THESE INSTRUCTIONS CAREFULLY. NOTE THE SAFE OPERATIONAL REQUIREMENTS, WARNINGS & CAUTIONS. USE 
THE PRODUCT CORRECTLY AND WITH CARE FOR THE PURPOSE FOR WHICH IT IS INTENDED. FAILURE TO DO SO MAY CAUSE DAMAGE AND/OR 
PERSONAL INJURY AND WILL INVALIDATE THE WARRANTY. KEEP THESE INSTRUCTIONS SAFE FOR FUTURE USE.

SSPS    Issue 1  28/10/24Original Language Version© Jack Sealey Limited

Refer to 
Instruction 

Manual

Model No SSPS
Nett Weight: 3.7kg

MODEL NO: SSPS



6.	 MAINTENANCE
6.1.	 Before use, check the frame assembly for cracks and damage. 
6.2.	 Regularly check that all fasteners are tight.	
6.3.	 Periodically lubricate the castors. 

Original Language Version© Jack Sealey Limited SSPS    Issue 1  28/10/24

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
 01284 757500   sales@sealey.co.uk   www.sealey.co.uk

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts 
without prior notice.
IMPORTANT: No Liability is accepted for incorrect use of this product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which is required for any claim.

ENVIRONMENT PROTECTION
Recycle unwanted materials instead of disposing of them as waste. All tools, accessories and packaging should be 
sorted, taken to a recycling centre and disposed of in a manner which is compatible with the environment. When 
the product becomes completely unserviceable and requires disposal, drain any fluids (if applicable) into approved 
containers and dispose of the product and fluids according to local regulations.


